8 | / | 6 o) 3 | 2 | 1
DOC.NR. REV DATE BY DESCRIPTION
SAPB140520 - 25-5-2020 | TT REFERENCE DRAWING SAPB080520
= =
d° ol © f ° ) °c©@ o ° L
To oJl ©eo [ ° ) ©__llo o
| === | | === |

ROLLER WIDTH 530
| 1990 / | BELT WIDTH 500
@356 DEEP—  [° / 7 _  CLEATWIDTH450 |
i B
\ I |
- _ ) [
p= o
- M~ Lo
S 3 St
11 1 E0131502 SAPB DATA PLATE
10 | 1 E0132174 WOODEN BOX 2300x850x600 mm OSB
9 2 E0120516 STICKER GOUDSMIT MAG. W600 BLACK
INSTALLATION DETAILS:
"ANGLE MAXIMAL 30° 8 [ 22 |  60.0200008 NUT, HEX M8 - A2 M8
6 | 20 90.1208020 BOLT, HEX M8x20 - A2 M8x20
5 | 44 70.0200008 WASHER M 8- A2 M8
CONNECTION BOX 4] 2 E0131436 BELT COVER BOTTOM SAPB140520
3 2 E0131434 BELT COVER TOP SAPB140520
2 1 45.3050055 RUBBER BELT EP400/3-4+2
1 1 E0131439 SUB ASSY SAPB140520 W. MAGNET
= = DRIVE ROLLER: P=1,5 KW; i=4,7A; v=1,7 m/s; 3x230/400V-50Hz ~ |[TEM[QTY| PART NUMBER DESCRIPTION Dimensions
% % BELT: EP 400/3 4+2 Y; LENGTH 4280; WIDTH 500; RaW | T | - |
QODO QO)O 10 CLEATS T40/20X450 * | Quantit e Material ,\éi::?r:fo; Material Description TR Length (mm)| Width (mm)
BELT SPEED 1’7 m/S Drawn: Weight (k/?2 Drawn according: 150 2765 mX
TRANSPORTATION DIMENSIONS: 2300x850x600 BT M 150268 1S01101; 1SO2553
Date: Status:
-4- = = Released
YES NO Spare F\JS;Q 4 goOwgeO Gou DSM IT Customer reference number:
False MAGNETICS
Quick search: ® Al rights reserved. Reproduction is not permitted without Document number: Doc.Rev:
SAPBO14 written permission of GOUDSMIT Magnetic Systems BV SAPB140520
Description: Part number: Rev:
ROP-F1-C-140-M-D-L-B-B-B-NA SAPB140520
8 I ! I § o 3 I 2 I 1




